% ﬁ % ; @ vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
77x s Ll 1 3. 3. 1.
4 3 5 4 5 3
l+l+lx§: l+2()xl+2:

2 4 4 4 5 2
2 1 2 1 1 1 3 1
—_— —F — X — = —_F - X - — - =
5 2 5 2 2 5 2 3
3 1 1 1 1 1 3 1
T4 x4 - = — 4+ _xI—-_=
4 2 4 4 5 2 4 2
1 1 2 1 1
4 —+6— == - —— =X ==
%5763 373 272
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vier Briiche, Reihenfolge der Operationen

Name
77><1;7_1_29_25
4 3 12 T12
1 1 1 3 15
—t+ —F —x == —
2 4 4 4 16
2 1 2 1 1
—_— —_F = X - = —
5 2 5 2 10
31 1 1 9 1
_—|—_X_+_:_:1_
4 2 4 4 8 8
1 19
A8 X — +6— == — =3
5 5

Datum: Ergebnis:

1 3 3 1 3

—_F - — — X — =

5 4 5 3 4

1 1 26 1
—+20X = +2=— =5-
5 5 5
1 1 3 1 7

—_F - X - - =

2 5 2 3 15

1 1 3 1 3

—_F - X - - =

5 2 4 2 40

1 2 1 1 7

> 3 3%X53=0)
3 3 2 2 12
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